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Itis advllssable to wear dull, dark or black garments in cold and chilly weather because such
materia
A. take a long time to warm up.

B are good reflectors of radiation.
(£ are bad emitters of radiation.
D

are good absorbers of radiation.

A ball is whirled in a vertical plane as illustrated in the diagram below
X

L
z

Ball

In which direction will the ball fly if released?

A. Z

B. X .

C. X

D. W =

The diagram above illustrates a body of mass, m on an inclined plane.
The coefficient of the limiting friction, in terms of the given parameters is

A.  tanf. |
B. sin 0.
Cx OOS 9
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 The efficiency of a pulley system is 75 % and the velocltx ratio of the system is 6. Calculate the

effort needed to lift a load of mass 120 kg. [g=10m s~
A 30N

‘267N
225N
1000N

-,gr _;lhclecuolytemalud-acidmmulatons

w\ 4
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A body of mass60 kg stands ona-weighing machine inside :?!liﬂ. [If the lift ascends with an
acceleration of 2.5'm 57, calculate the reading on the machine.

[e=10ms7?

Al 750N
B SS0N
. 600N
D 450N

A body of mass 20 g is suspended from the end of a spiral spring whose force constant
is'0.4 N m™'. Calculate the angular speed of the body

A, 141 rads™

B. 283 rads

C.  224rads’

D. 447 rads™

An electric device which sets an electron into motion when the electrades are connected to a
conductor is termed as
A, a galvanometer.
B. acell.

£ avoltmeter.

D. an ammeter,

Sound production is the result of
:. vibration of matter.

3 superposition of waves.
(C. change in wavelength.
D. change in frequency.

In an electric iron, the earth wire is always connected 1o the
A. element.

B. metal casing

[ of plastic handle.

‘D. thermostat.

‘An energy efficient bulb of power 15 W produces the same brightness as a traditional
incandescent bulb of power rating 40 W. If both bulbs are used for 5'hours, determine the energy
‘saved by the energy efficient bulb.

A. 80x10°)
B. 45x10°)
€.  6.0x10%)
D. 1.5%x10°]

‘Which of the following properties is not associated with X-rays? They
A. ‘cause fluorescence.

B. are deflected by electric fields.
. [ionize gas.
D. travel in straight line.

Alead biillet of mass 4.0 g at 300.K is fired with a speed of 300 m s Caleulate e maxinium
temperature of the bullet upon impact with the target.
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b 20. A source of sound of frequency 100 Hz approaches a stationary observer with a speed of

10 m 5™ ¥f the speed of sound in air ; 340 ms™! t frequency of the
sound heard by the pbserver. Iris 340 m s, calculate the apparent frequency

A. 350.0 Hz
B. 97.1 Hz
iC. 103.0 Hz
D. 340 Hz

vims =1 4

50 s
40 ...

@O 10 3 s

The diagram above illustrates the motion of a car. Determine the distance covered by the car
in 20 seconds.

A°  1600m :
B. 600 m
C: 1100 m
B D 950 m
A capacitor is a device used for

A. amplifying an electric signal.
B. storing electric charge.

C. detecting the type of charge.
D. rectifying current.

. Thesensation of vision lingering on the brain for a very short period is known.as
A binocularvision.

B. depth of field of the eye lens.

e persistence of vision.

'D.  power of accommodation of the eye.

3 it
ol .‘ﬂf@z j( %)Twhem Fiis force and M is mass per unit length, obtain the dimensior,.. Q.
& ', LT -2

Wit of the following statements is true when a moving ball collides elastically with a stati _
ball of equal mass? : . 3 onaty
‘The moving ball stops and the stationary ball movwmthfthe:imtm!wlocity.ofunmoving
~ ballafter the impact.

The balls coalesce and move with a common velocity after the impact.

TThe balls move with different speed after the impact.
~ Both balls moveiin the same directipnas the initial velocity of the moving balt afier

nd velocityis 15 m s, 30° North of East (N30°E). Calculate its northetly component.
velocity is
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The equivalent of l kWh in Joules is

A. 1.0 X 10,

B 1.0x 10°.

C. 3.6 X 10,

D 3.6x10°.

Which of the following dimensions is correct for momentum?
ASTRM T

B MLET

Co SIMEST A

D. MLT™!

As a sample of radioactive element decays, its half-life geometrically
A. changes exponentially.

B. increases arithmetically,

C. remains the same.

D. decreases.

Heavy water in certain nuclear reactors function as

£ Coolant
1L Fuel
ML Moderator
A. I, Il and 111
B. I and Il only
C. I and III only
D. Tonly
Which set of equipment could be used in an experiment to determine the densny of an
irregular shaped object?
A. Conical flask and measuring cylinder
3 Beam balance and micrometer screw gauge
(e Measuring cylinder and vernier caliper
D. Beam balance and measuring cylinder
Which of the following vibrations is not forced?
A. Vibration of the prongs of a tuning fork
B. Motion of the bob in a pendulum clock
Ci Flapping of the wings of a bird
D. A metal ball rolling in a smooth hemispherical bowl
The diagram below illustrates the relationship between mass and volume for four different
materials L, IL, III, and IV respectively.
Volume 4 :

o
Which of the materials has the lllgleat density?
a0
B. |

C.
qﬁéiﬁ?ﬂml
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Particles of mass 1 0 x 107kg is fixed to the tip of a fan blade which rotates with an angular

A of;:)(())Odes - Il the length of the blade is 0.2 m, the centripetal force on the particle is

B. 20 N.
G 200'N.
D. 2N.

An electron accelerating through a p.d of 10 KV strikes a tungsten target and causes emission
of an X-ray photon Calculate the maximum frequency of the X-ray photon.
[h=6.63x lO‘ Jse=16x10")
A. 1.6 x 102 HZ
B. 24x% 10" 2 Y Hz
C. 24x10°Hz
D. 16x10"Hz

6.  Which of the following statements about electric field intensity is correct? It
A increases with the distance in the electric field.

B. does not obcy the i inverse square law.
C. is measured in NC ~
D. is a scalar quantity.

A ball is thrown horizontally from the top of a tower with a speed of 12 m s, If the ball hit the
ground 2.0 s later, determine the height of the tower. [g=10ms™ ]

A. 400 m
B. 200m
(e 240m
D. 440m

The value of an a.c. that produces the same heating effect as the value of a d.c. is the

A. instantaneous current,

B peak current.

e C. mean current.

D, root mean square current. . .

- A p-type semiconductor can be made from germanium semiconductor by doping it with a
A. tetravalent atom.
B. divalent atom.
RC: trivalent atom.
D monovalent atom.

Turn over l



44,

45.

47.

48.

49.

50.

8
A body in uniformly accelerated motion covers a distance s in time #. If u, v, and a are the
magnitudes of the initial velocity, final velocity and acceleration respectively, which of the
following equations is not correct?

A. u? =v24+2a5
B. .\'=-%-(u+v)l
C. s=m+—;-u2
D. v=g+ar

When 50 g of water at 30 °C is mixed with 20 g of hot water, the resulting temperature of the
mixture is 40 °C . Calculate the temperature of the hot water assuming no heat loss to the sur

rounding,

A. 50°C
B. 70°C
€. 65 °C
D. 80°C

Two bodies have their masses in the ratio 3:1. They experience horizontal forces such that their

:cccleratzi:gns are in the ratio of 2:9 respectively. Determine the ratio of the forces.

B. 21
C. 23
D. 14

The mouth piece of a telephone receiver primarily converts sound energy (0
A. chemical energy.

B. heat energy.
C. electrical energy.
D. mechanical energy.

Which of the following devices is used to set up a d.c. voltage?
A Induction coil

B. Voltmeter

s Transformer

D. Ammeter

The coefficient of static friction between a 40 kg crate and a concrete surface is 0.25.
Calculate the magnitude of the maximum force needed to keep the crate stationary if the
concrete base is inclined at an angle of 45° to the horizontal.

A. 212N
B. 300N
C. 283N
D. 400N

According to Pascal’s principle, the pressure in a fluid always

A. transmits equally in all directions.

B. depends on the density of the fluid.

C: distributes partially in all direction.

D. _ increases with height.

In a voltmeter, 2 g of metal is deposited by a charge flow of 1000 C. Calculate the time taken to
deposit 7 g of the same metal if 2 A passes through the véltmeter.

A. 120.9 minutes

B. 29.2 minutes

(5] 59.2 minutes

D. 5.9 minutes

END OF PAPER




